CAR%E ¢ 398 ' ﬂiiiﬁ‘kﬁlmiiﬁ}ilﬁilﬁ#ﬂé’?ﬁﬁﬁ
FHB  BRAE MG RATE S A 308
Fk: 6 S % > Az% | R

SOER | IIVE R AR SR B -
I WFER (RE(L) BEEIEEE 6 5)
2. {AIERREE7KEE (significance level)? {AT38ARTT (power)? (8 43)
3. FIEIASHIG (binomial distibution)? 1E/ASMTAERTSE LATHIR? HBFRE - 0 4)

4. BHES p-value FIRCHIAIETERE? (543)

(A) p-value LLISHIAER 0.05 - F g SLiteimses

(B) p-value fR/NRHEFE BRI

(C) p-value {R/NITRE T BRIR LY

(D) p-value R—{EAfiET & » GhEHEA TS

(B) p-value=0.05 FRTFATH 100 TR ENEM 5 K felig

U

. EEEXERILE RS N(u o?) - FHIRG -

(1) BR ¢ 53HAHAEL » BER Sad A im0

(2) 0.99 < P(|X| <30) <1

(3) HAZE{E (mean) FIFEY (mode) HRGHu

) XBaAES A B RAE DAY (median) B3
SR B ETEE (5 4))

A) (1) Q) EHE
®) (1)) () TEHE
© @)@ EfE
D (1)(3) @ ExE
E) SR

6. THIRHA{STEERT (confidence interval) Fy2it » {ﬁ‘j%j{ﬁg? (54%)

(A) BEfELKE (confidence level) Zf% - (SIBEBMIAEIET » FEMSRALLTIZ
(B) 95% (EMAERINEER » HEMRAE—(FLUT - AR 0.95 AOlss A S HEmRry
©) BABEEZT  £TABEEESEBR - RIS Lk

D) (EHEERIE A5 \ |
(B) EBAM 95% BYSIEBRIABTREMRTE (hypothesis test) [ » B SR BIEIA 0,05

7. THBARSERRONT Y = fo + B1X1 + BoXp + & WIBGR  (THIERE? (5 43)

(1) FRFESREY X, X, DA/ERIEGTRY (continuous) 254

() FIEAE R? BARM TR I E SR R T AT

() HEHER? BN AR ARy T A

(4) MAEEENETER - BATUEEBEARE Hp:f =6, =0
B Ay BeE ¢

(A) (1) IERE

LHE




A% 398 B EMAR101 S5 EE e LR H
#8 0 A4t RATE S -

K

AR

398

# =2 Rx# = R

(B) (2)() IEhE
€ (@) IEE
D) ) (3)4) IEHE
(E) EICHE

8. FARESANTERSEPEBVSBRNESE 659
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£ 9 IS 10 BH: Please answer the following questions. (True or False)

9. An independent variable can be a confounding factor as well as an effect modifier (3%0).

10. At the baseline of a clinical trial, testing the association between independent variables and the dependent
variable is to examine the existence of potential confounding (3%).

11. Please explain the following terminology:
(a) Standardization (3%)
(b) Confounding by indication (3%)
(c) Collinearity (3%)

12. What are the differences between systematic error (bias) and random error? (3%)
List two types of systematic error (4%).
How to control for systematic error in general (3%).
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